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QUESTION 1

You have provisioned an Autonomous Data Warehouse (ADW) database with 16 enabled OCPUs and need to
configure the consumer group for your application. Which two are true when deciding the number of sessions for each
application? (Choose two.) 

A. The MEDIUM and LOW consumer group can run up to 16 concurrent SQL statements if HIGH consumer group has 0
SQL statements 

B. The HIGH consumer group can run up to 16 concurrent SQL statements as long as MEDIUM and LOW consumer
groups have 0 SQL statements 

C. The MEDIUM consumer group can run 20 concurrent SQL statements when HIGH consumer group has 0 SQL
statements 

D. The HIGH consumer group can run up to 16 concurrent SQL statements in addition to 32 concurrent SQL statements
in MEDIUM and LOW consumer group each 

E. The HIGH consumer group can run 3 concurrent SQL statements when MEDIUM consumer group has 0 SQL
statements 

Correct Answer: CE 

References: https://docs.oracle.com/en/cloud/paas/autonomous-data-warehouse-cloud/user/connect-
predefined.html#GUID-9747539B-FD46-44F1-8FF8-F5AC650F15BE 

 

QUESTION 2

You have created a new compartment called Production to host some production apps. You have also created users in
your tenancy and added them to a Group called "production group". Your users are still unable to access the Production
compartment. How can you resolve this situation? 

A. Every compartment you create comes with a predefined set of policies, so no further action is needed 

B. B. Your users get automatic access to all compartments, so no further action is needed 

C. C. Write an IAM Policy for each specific user granting them access to the production compartment 

D. D. Write an IAM Policy for "production_group" granting it access to the production compartment 

Correct Answer: D 

When creating a compartment, you must provide a name for it (maximum 100 characters, including letters, numbers,
periods, hyphens, and underscores) that is unique within its parent compartment. You must also provide a description,
which is a non-unique, changeable description for the compartment, from 1 through 400 characters. 

After creating a compartment, you need to write at least one policy for it, otherwise no one can access it (except
administrators or users who have permissions set at the tenancy level). When creating a compartment inside another
compartment, the compartment inherits access permissions from compartments higher up its hierarchy. 

When you create an access policy, you need to specify which compartment to attach it to. This controls who can later
modify or delete the policy. Depending on how you\\'ve designed your compartment hierarchy, you might attach it to the
tenancy, a parent, or to the specific compartment itself. 
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QUESTION 3

Which two are true for Oracle Cloud Infrastructure DNS? (Choose two.) 

A. It can function only as a primary DNS. 

B. It supports other cloud providers such as AWS and Azure. 

C. It supports segregation of traffic by using the private pool. 

D. It does not provide DDoS protection. 

Correct Answer: BC 

References: 

B: Support for Oracle Cloud Infrastructure, other Cloud provider endpoints (AWS, Azure) and private assets, including
Cloud, CDNs and Data Centers 

C: Customers may purchase Oracle Cloud Infrastructure Private Pool and Vanity Nameserver to have their Domain
Names and Zones under a private IP pool with dedicated nameservers to segregate from those of other customers in
order to reduce the risk of external issues affecting their websites. 

https://www.oracle.com/cloud/networking/dns-faq.html 

 

QUESTION 4

Which statement is true about the Oracle Cloud Infrastructure File Storage Service Snapshots? 

A. Snapshots are created under the root folder of file system, in a hidden directory named .snapshot 

B. Snapshots are not incremental 

C. You can restore the whole snapshot, but not the individual files 

D. D. It Is not possible to create snapshots from OCI console, but just the CLI 

Correct Answer: A 

The File Storage service supports snapshots for data protection of your file system. Snapshots are a consistent, point-in-
time view of your file systems. Snapshots are copy-on-write, and scoped to the entire file system. The File Storage
service encrypts all file system and snapshot data at rest. You can take as many snapshots as you need. 

Data usage is metered against differentiated snapshot data. If nothing has changed within the file system since the last
snapshot was taken, the new snapshot does not consume more storage 

Snapshots are accessible under the root directory of the file system at .snapshot/name. For data protection, you can
use a tool that supports NFSv3 to copy your data to a different availability domain, region, file system, object storage, or
remote location. 

 

QUESTION 5
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Which two Oracle Cloud Infrastructure database services allow you to dynamically both scale CPU and storage?
(Choose two.) 

A. bare metal DB system 

B. virtual machine DB system 

C. Autonomous Data Warehouse (ADW) 

D. Autonomous Transaction Processing (ATP) 

Correct Answer: CD 

If a bare metal DB system requires more compute node processing power, you can scale up (increase) the number of
enabled CPU cores in the system without impacting the availability of that system but you can\\'t increase the storage If
the original DB system VM shape uses a single node, running databases on the DB system nodes are sequentially
stopped and then restarted on the new shape so not dynamic 
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